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e d Review for Probability Test 7b

1[ Lesson 10-6 Probabiility of Simple Events (pp. 470-474)

Mike rolls a ten-sided solid whose identical faces are Example 6
numbered with the first ten square numbers. Find

; T Pia rolls a seﬁen-;ided solid whose identical faces are
each probability. Then describe the tikelihood of the it . .
event as impossible, unfikely, equally likely, likely, or numbered 4 through 10, Find P{odd). Then describe the

tain. 1* 7% 22 ¢J B2 1.2 1% CL o 1m likelihoadoftheeventasJ‘mpossibte,unlike!y,equaﬂy
certain. 17, 27 3545 D e 1% E ?I!D likely, likely, or certain.

18. P iQit i LYY b 25,20
ones cigitis 2 3 ,:,6:,“‘ b" 5:30,49, 61,31, 100 sample space: {4, 5,6, 7,8, 9, 10}
1, e .
2. Pitwo dngiznum§er} I 19 1iKel favorable outcomes: odd numbers, 5, 7, and 9

20, P(multipleof 8} 2| = /g Un{[l!.e%\j Plodd) == Rumber of favorable outcomes _ 3

. igit 105, . number of possible outcomas 7
#1. Mones digit not 3 fto= b certain The probability is about 43%. This is tess than 508, so the

22. Plodd) .5_]“-_}: 3/,;,- fﬁd‘ vatl l‘-- HK el ﬂ event is unlikely.

22.5 What is the complement of P{multiple of 8) from #20 above?
&lho="]5

{ Lesson 10-7 Theoretical and Experimental Probability (pp.477-481)

T

In a survey of randomly selected students, students Example 7
chose their preference from among three meal

options for a school evant, A spinrier has five equal-sized sections. Two are red,

one is green, one is biue, and one is orange. Lee spins
Meai Pizzy Burgets Yegetarian the spinner 60 times. Find the theoretical and
experimental probabillity of red.

frequency 47 N 2
23. What was the experimental probability that a Result Red Green Bive Brange
- student chose burgers? 3} ! 160 Frequency 2 15 1" 12
24. What was the experimental probability that a - . ... favorable outcomes _ 2
student chose the vegetarian option? Z.2- 1!00 theoretical: Pred) = possible outcomes 5 O 40%
25, OQut of a similar group of 450 students, predict how expetimental; Pired) = redresults _ 22 _ 11 or 36.6%
. ) - allresuits 60 30
many would choose the vegetarian option. \/
IR w ¥ aiway g
N 114 vie
ox = qa0b Proportienst
00K = 9900 PAGE 1
180 1o0

| x= 29 students ]



do eath Event gepdyatciy
e Hien wivinhply Hhem_

Lesson 10-8 Prabability of Compeund Events (pp. 432-4861

-

- e

A penny Is tossed and a number cube is rolled. Example §
find each probability,

| ¢ 1 A card ts drawn from a deck of eight cards numbered
26. Ptheadsand4) 7. L= 14 from 1 to B and a number cube is rolled. Find the
27. Pltailsand 13,5, . .8 i probability of drawing a 3 and then rolling a 6.
’ AR T

Use the Fundamental Counting Principle to find the
number of possible outcomes.

.'3'-1 ';"‘PB 6) = P(drawing a 3} - P{:cllingaé)
30. P{tails and a number tess than or equal to 5) TR R e

....!- -é- éo HE NI P S
ANt 8 X 6 .= 48

There are 48 outcomes. o

-

ils A -2
28. Plails and odd number) % % =3 =

e}r: L

29. P{heads and a number greater than 2) .i!- .

Find the probability. There is one way draw a 3 and
roli 2 6. 5o, the probability is i 2%

** Remember: Compound Events: find the probability of each event and multiply! ‘

More Practice:

Leanne collects data throughout the basketball season and uses these data to
1. determine the probabilities of different teams playing in the league championship

game. The probabilities for her four favorite feams playing In the championship game
are shown below,

* Tigers: P— = 6b. T}
= Redbirds: = 5 = %O ,
» BL!!Idogs:Pzg. - 3.-] 51

. ﬂtans:P-----%"‘- 56’

Which of these teams is least likely to play in the championship game?
i, WS

A Tigers
B Redhlirds

@Bulldogs

D Titans

2. A passenger traln has tickets avallable for 12 window seats and B alste seats. The next
persan to buy a ticket wilf be randomly assigned to one of those seats. What Is the
probahility that the next person will be assigned to an aiste seat?

Fotatl = -5
seats 20~ 5
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3. A howling team participates in a two-day tournament and records the scores for

each team member on both days. The scores for hoth days are represented by the
box plots balow.

remember?
e : BOWLING TEAM SCORES fa-w»«T N
JIOERACO  é—  Friday P [ +— o o oolay @3
. Saturday  f——— | [ 1
;'_1;;9—%0(/‘(5 e +—+>
ALY

= @ Bowling Scores

Which conclusion can be drawn dront the box plots?

TRR= G @,

NO
A The scores on Friday and the scores on Saturday have the same median and
interquartile range.

B The scores on Friday have a greater median and a greater interquartile range than
the scores on Saturday.

€ The scores on Friday have a greater interquartile range than the scores on Saturday,
but both data sets have the same median.

@ﬂm scores on Friday have a greater median than the scores on Saturday, but both
data sets have the same interguartile range.

4. A seventh grade English Language Arts teacher wants to order books for all the
seventh grade classes. He wants to determine the favorite type of book among the
seventh grade students. Which sample would be the most appropriate for this survey?

A 7 girls in each of his classes
@ every fifth student in the seventh grade ——7 SY ¢tHematic SOW\PI “’16 f +ne 6 rﬁ.(i €
C 1 out of 7 studants In his middle school

D all of the boys in one of his seventh grade classes

5 A board game has a spinner divided into sections of equal size. Each section is labeled
* with a number between 1 and 5. :

Which number is a reasonable estimate of the number of times the spinner will Jand
oh & section labeled 5 over the course of 150 spins?

A5 @P"U? 9

B 2 =2 X NX = 4SO .
@40 ot 1 —""—,2':_# PAGE 3
= A 50

Y= 315 ciose o 40



6. A neighborhood deli sells sandwiches that can be made with the ingredients listed on the

board below.
Bread Meat Cheese
White Ham Provolone
Rye Turkey American
Pumpernickel Bologna

a. Draw a tree diagram to show all of the possible bread, meat, and cheese pOSSlbIhtleS
if & sandwich only has ONE type of bread ONE type of meat, and ONE type of
cheese. W=

R/T:? 1§ (hoi (e §

b. P{ham, American) = A

hg= Yo

¢. Probability of ordering a sandwich with white bread, turkey and provolone cheese?
{
/e
Determine if the following events are independent or dependent. Then find the probability.
7. Alt of the letters that spell MISSISSIPPI are put into a bag.

What is the probability of selecting a vowel, and then after reelacing the letter, also drawing an §7?

5 g H e
Dependent or ' Probability: H-ﬁ—-- T “1—1_1‘

-4
. ) Q\U\%f-i\'p
8. Using a standard deck of cards, what is the probability of selecting a red card, without \\s"w;‘ f" v
. LAWY L
replacement, and then selecting a haért card? '* BRD ‘[\‘ N Y
JO—— 7
Depend-e@r Independent? Probability: 52 /Z} _f _SEJ
2 ST 2652

-

9. If you roll a die three times, what is the probability of rbliing only even numbers?

Dependent orlindependent ? Probability: PAGE4

f j ! |

e —— e U

Z 27z 7l g



10. There are 4 black marbles and 2 white marbles in a bag. What is the probability of choosing
a black marble, not replacing it, then choosing a white marbie?

@nden}r Independent? Probability: 1 L 8 T
o 5 = 207 15
11. How many possible outcomes are there for a Iocker combination that hasa 3 number

code?
o [0-10° 10 = (OO purcomLs

Wt ———— i ————

w O
o7 at oSt -
%E,O Y Oﬂ { C) P 5 - !G[':' :

12. How many possible outcomes are there for a combination that involves the one letter

f ? 26 - - -
ollowed by two numbers 26 10 o - %{000 OUFHLorme ¢

13. a) How many possible outfit options are there if you are choosing between a red, blue and
gray shirt, jeans or shorts, and sneakers or flip flops? 2. 2= 12 ORI T
CpTioN <

AL =z
3 2= ‘ﬁ“

b) What is the probability of picking an outfit with a red shirt?

Permutations:

14. There are five finalists inthe Mr. Universe pageant. In how many ways may the judges choose a winner
and a first runner-up SoHs 2D

T wWays 5 Pz 20 ways

15. A multiple choice test consists of 15 questions, each with answers (a), (b), (c), {d), and (e}. In how many
ways could a student fill in the answers if they a?swer every question?

;5‘35%65§3$5‘s€s€,
S7 ways

bt et iem o e e et et i

16. In how many ways could five people fine up to geton a bus? P
& Ps=i2D “ sl=ia0 O 53 2L F 120wy S o
17. How many rearrangements are there of the letters in the word “great?” ob v o -
S93 2 Y Ssi™sPs 2 m0wa ‘
5! s //V
18. Evaluate: 4! 19. Evaluate:; 20. Evaluate: gP3 PAGES
43201 =2 sup i f S od



21. Create a box plot using the data for the heights in inches of students in middle school.

60 55 54 62 63 61 62 60 61 z1
Height in N ey

50 5l 52 S3 SHcs Sb 57 8% §4 @O &) WL U3

{ -_‘“)..
A

55, G, 00 bl)bi, o2,k 2

Five Number Summary: m-‘m C), m(f.d;fﬂ.ﬁ @7) YLAX

1 }

\.I/ \i/ v v J,
54 57 0 © (2 03
22. Harry rolled the number cube and recorded his results in the table.
# on die 1 2 3 4 5 6
Times rolled 30 45 30 28 24 23 Total - 180

.. r{i{ﬂm\‘ a) What is the experimental probability of rolling a 2? _fj_é i /
¢ %07

b} What is the theoretical probability of rollinga 2? j

pa——

b

¢) IfHarry wereto roll the die 144 times, predict how many times he would land on the
number 5, using his experimental probability.

ZH % 243 b= 180 %
[0 7 144 (80 1£0
T AZ
23.Solveforx: 5{x+2)+3x=26 kabouﬂ— 14
[ 5
TAHO+ 2X= 2 b Al
ER+10=26
_%)(":L@_ X=2

24.Isthe number% rational, irrationafwhole and/or counting. List all answers.

|
v o v 1 f '
(ahonal (s afraction ) -



